Homework Chapter 8 
Q1. A survey was taken of U.S. companies that do business with firms in India. One of the questions on the survey was: Approximately how many years has your company been trading with firms in India? A random sample of 44 responses to this question yielded a mean of 10.455 years. Suppose the population standard deviation for this question is 7.7 years. Using this information, construct a 90% confidence interval for the mean number of years that a company has been trading in India for the population of U.S companies trading with firms in India.

Q2. A study is conducted in a company that employs 800 engineers. A random sample of 50 of these engineers reveals that the average sample age is 34.30 years. Historically, the population standard deviation of the age of company’s engineers age of all the engineers in this company.

Q3. A book store wants to estimate the mean retail value of books that it has in its inventory. A random sample of 100 books indicates a mean value of $3.45 and a standard deviation of $0.66. Assume a normal distribution, construct a 99% confidence interval estimate of the mean value of all books in the store’s inventory.
Q4. If the manager of a paint supply store wants to estimate the mean amount of paint in a 1-gallon can to within ±0.004 gallon with 95% confidence and also assumes that the standard deviation is 0.02 gallon, what sample size is needed?

Q5. A stationery store wants to estimate the total retail value of the 1,000 greeting cards it has in its inventory. Construct a 955confidence interval estimate of the population total value of all greeting cards that are in inventory if a random sample of 100 greeting cards indicates a mean value of $2.55 and a standard deviation of $0.44.
